MIAMI-DADE COUNTY	OFFICE	USE ONLY			
CANDIDATE OATH –	Dragf of recidency provided				
NONPARTISAN OFFICE	Proof of residency provided:				
(Do not use this form if a Judicial or School Board Candidate)	Driver's License	Utility Bill			
Check box <i>only</i> if you are seeking to qualify as a write-in candidate:	Voter Information Card	Homestead Exemption Receipt			
Write-in candidate	Property lax Receipt	Lasse Agreement			
CANDI	ATE OATH	2			
CANDIDATE OATH - NONPARTISAN OFFICE (Do not use this form if a Judicial or School Board Candidate) Check box only if you are seeking to qualify as a write-in candidate: Check box only if you are seeking to qualify as a write-in candidate: Proof of residency provided: Driver's License Voter Information Card Property Tax Receipt Lease Agreement					
ı, Eileen Higgins		E P			
(See page 2 – Compound Last Names). No change can be made after to the ballot, the name must be printed above for oath purposes.)	the end of qualifying. Although a wri				
am a candidate for the nonpartisan office of County Comr	nissioner	and the same of th			
		(District/Group/Seat #)			
Home Rule Charter of Miami-Dade County to hold the office of no other public office in the state, the term of which office or a resigned from any office from which I am required to resign I Constitution of the United States and the Constitution of the States I affirm that I am a resident of Miami-Dade County, meet the proof of my residency in the district for the prescribed period.	to which I desire to be nominat ny part thereof runs concurrent pursuant to Section 99.012, Flor te of Florida.	ted or elected; I have qualified for with the office I seek; and I have rida Statutes; and I will support the ents for this office, and submitting			
Candidate's Florida Voter Registration Number (located on you	r voter information card): المارة	5053834			
may be used by persons with disabilities (see instructions on pag					
	The state of the s				
X Some 1 Harain (30	5) 333-5399	eileen@eileenhiggins.com			
·					
	unitary services	SHAYESTA A. AHMED Notary Public - State of Florida			
countrof Miami - Dade.	No.	My Comm. Expires Feb 27, 2019			
Sworn to (or affirmed) and subscribed before methis	day ofApril	, 20 18 .			
SHAYESTA A. AHM Notary Public - State o					
Personally Known:or Commission # FF My Comm. Expires F	e Cleu	elly ui			
Produced Identification: Bonded through Nation	Signature of Notary Public Print, Type, or Stamp Commissioned N	Name of Notary Public			
Type of Identification Produced: FLD L.					

Review carefully - Your precinct number, voting location, or both may have changed. Use this information to exercise your right to vote!

Revise cuidadosamente. Es posible que el número de su recinto electoral, su centro de votación, o ambos, hayan cambiado. ¡Utilice esta información para ejercer su derecho al voto!

Li atantivman – Nimewo biwo vòt ou, lokal biwo vòt ou, oswa toude kapab te chanje. Itilize enfòmasyon sa-a pou w egzèse dwa w pou w vote!

Detach

MIAMI-DADE

Desprenda por aqui

Voter Information Card Miami-Dade County, FL

Tarjeta de Información del Elector Condado de Miami-Dade, FL

> Kat Enfòmasyon Votè Konte Miami-Dade, FL

> > ISSUED

06/10/16

Registration No. Núm. de Inscripción Nim. Enskripsyon

115053834

Please check all information for accuracy.

Sírvase

verifi-

car la

correc-

ción de

datos.

todos los

Eileen Theresa Higgins 253 NE 2Nd St UNIT 3909 Miami FL 33132

> Bring photo identification when voting.

Para votar, presente una identificación con fotografía.

Tanpri pote yon pyès idantifikasyon ki gen foto w sou li lè w'ap vin vote.

Voting Location | Centro de Votación | Lokal Biwo Vòt

Miami Fire Station #4 1105 SW 2 Ave

Precinct No. Núm. del Recinto Nim. Biwo Vòt

Date of Birth Fecha de Nacimiento Dat Nesans

Registration Date Fecha de Inscripción Dat Enskripsyon

984

1964/06/30

2007/03/09

Party Affiliation | Afiliación Partidista | Pati Politik

FLORIDA DEMOCRATIC PARTY

Tanpri Tanpri verifye ke tout enfòmasyon yo kòrèk.

FORM 6 FULL AND PUBLIC DISCLO	DSURE	2017
Please print or type your name, mailing address, agency name, and position below: OF FINANCIAL INTERE	STSECEIFORG	FFICE USE ONLY:
LACTNAME FIRST NAME MIDDLE NAME.	2018 APR 13 PM 2	: 31
MAILING ADDRESS: 253 NE 2nd Street #3909	MIAMI-DADE COUN ELECTIONS DEPART	NEHT
CITY: ZIP: COUNTY: Miami FL 33132		
NAME OF AGENCY: Miami-Dade County Commission		
NAME OF OFFICE OR POSITION HELD OR SOUGHT: Miami-Dade County Commissioner District 5		
CHECK IF THIS IS A FILING BY A CANDIDATE	s ^{ee}	
Please enter the value of your net worth as of December 31, 2017 or a more culated by subtracting your reported liabilities from your reported assets, so please the worth as of	lease see the instruction	8
PART B ASSETS HOUSEHOLD GOODS AND PERSONAL EFFECTS: Household goods and personal effects may be reported in a lump sum if their aggregate value following, if not held for investment purposes: jewelry; collections of stamps, guns, and nume furnishings; clothing; other household items; and vehicles for personal use, whether owned or the aggregate value of my household goods and personal effects (described above) is \$	nismatic items; art objects; h leased. 0,000	egory includes any of the nousehold equipment and
ASSETS INDIVIDUALLY VALUED AT OVER \$1,000: DESCRIPTION OF ASSET (specific description is required - see instruction)	ns p.4)	VALUE OF ASSET
Details of all assets are listed in attachment, but the total of these assets a		2,286,470.82
PART C LIABILITIES		
LIABILITIES IN EXCESS OF \$1,000 (See instructions on page 4): NAME AND ADDRESS OF CREDITOR		AMOUNT OF LIABILITY
	5265	2,004
Mastercard PO Box 9001037, Louisville K	Y 40213	2,744
Car Lease Mercedes Benz Finance Po Box 1685, Roan	roke TX 76262	8,370
JOINT AND SEVERAL LIABILITIES NOT REPORTED ABOVE:		
NAME AND ADDRESS OF CREDITOR		AMOUNT OF LIABILITY
		None

		PART D - IN	COME	
Identify each separate source at copy of your 2017 federal incon attaching your returns, as the la	ne tax return, including all W2	s, schedules, and at	achments. Please redact any	y sources of income. Or attach a complete social security or account numbers before
	ny 2017 federal income tax rel nd attach a copy of your 2017		hedules, and attachments. not complete the remainder of	f Part D.]
PRIMARY SOURCES OF INCO				
NAME OF SOURCE OF INC. Inside the Glass, Inc.	OME EXCEEDING \$1,000		ress of source of INCO t, Miami FL 33132	ME AMOUNT \$21,000
		233 NE 2110 S	t, Miann FL 33132	\$21,000
Please see attachment for	or income			
SECONDARY SOURCES OF II	NCOME [Major customers, clie	ents, etc., of busines	ses owned by reporting persor	nsee instructions on page 5]:
NAME OF BUSINESS ENTITY	NAME OF MAJOR OF BUSINESS'		ADDRESS OF SOURCE	PRINCIPAL BUSINESS ACTIVITY OF SOURCE
Please see attachment				, and the second control of the second contr
P	PART E INTERESTS IN	N SPECIFIED BU	SINESSES [Instructions of	on page 6
	BUSINESS ENTITY #	‡ 1	BUSINESS ENTITY # 2	BUSINESS ENTITY # 3
NAME OF BUSINESS ENTITY	None			
ADDRESS OF BUSINESS ENTITY				
PRINCIPAL BUSINESS				m 62
ACTIVITY POSITION HELD				
WITH ENTITY I OWN MORE THAN A 5%				
INTEREST IN THE BUSINESS				97 20
NATURE OF MY OWNERSHIP INTEREST				
		PART F - TRA	INING	ACC AK
For office	rs required to complete	annual ethics tr	aining pursuant to section	on 112.3142 🕏 🔀
	I CERTIFY THAT I H	AVE COMPLE	TED THE REQUIRED	TRAINING Z ≅
O A	ATH	STATE OF F		
I, the person whose name app	ears at the	Sworn to (or	affirmed) and subscribed befo	re me this THERESA HIGGINS
beginning of this form, do depo		April	. 20 18 by 5	The state of the s
and say that the information di		Amordo	Oxllege	ANGELA GALLEGO Notary Public - State of Florid
and any attachments hereto is and complete.	true, accurate,	(Signature o	Notary PublicState of Florid	Commission # FF 233574
and complete.		ANGEL (Print, Type,	A 6AUE60 or Stamp Commissioned Nan	My Comm. Expires May 21, 20 Port Notice of Notice Published House National Notary As
Comme	41(Personally K	nown OR Pro	oduced Identification
SIGNATURE OF REPORTING	177 0 01			
is the state of th	OFFICIAL OR CANDIDATE	Type of Iden	tification Produced FL Dy	wers license.
she must complete the following	t licensed under Chapter 47			Bar prepared this form for you, he or
she must complete the followi	t licensed under Chapter 47 ng statement:	3, or attorney in go	od standing with the Florida E Form 6 in accordance with	
she must complete the following l,Section 112.3144, Florida Sta	t licensed under Chapter 47 ng statement:	3, or attorney in go	od standing with the Florida E Form 6 in accordance with	Bar prepared this form for you, he or
I,Section 112.3144, Florida Sta and correct.	t licensed under Chapter 47 ng statement: tutes, and the instructions to	3, or attorney in go , prepared the C o the form. Upon m	od standing with the Florida E Form 6 in accordance with y reasonable knowledge and	Bar prepared this form for you, he or Art. II, Sec. 8, Florida Constitution, d belief, the disclosure herein is true
I,Section 112.3144, Florida Sta and correct.	t licensed under Chapter 47 ng statement: tutes, and the instructions to	3, or attorney in go , prepared the C o the form. Upon m	od standing with the Florida E Form 6 in accordance with y reasonable knowledge and	Bar prepared this form for you, he or Art. II, Sec. 8, Florida Constitution, d belief, the disclosure herein is true

Summary of Assets of 12/31/17.

PART B - ASSETS INDIVIDUALLY VALUED AT OVER \$1,000

Eileen T. Higgins (Investment Accounts and Checking Account)

As of Date	Security Type	Symbol	Description	Quantity	Price	Value
12/31/17	Cash and Money Funds	ARZ	Schwab Advisor Cash Reserves-Sweep Shares			29,091.81
12/31/17	Cash and Money Funds	MMF	Schwab Money Market Fund			47,292.35
12/31/17	Exchange Traded Funds	SCHF	Schwab Intl Eq ETF	407.000	34.07	13,866.49
12/31/17	Exchange Traded Funds	SCHX	Schwab U.S. Large-Cap ETF	153.000	63.78	9,758.34
12/31/17	Exchange Traded Funds	SCHA	Schwab U.S. Small-Cap ETF	162.000	69.74	11,297.88
12/31/17	Exchange Traded Funds	SHM	SPDR Nuveen Barcap S/T Muni Bd	165.000	47.91	7,905.15
12/31/17	Exchange Traded Funds	VCSH	Vanguard Corp Bond Etf	450.000	79.30	35,685.00
12/31/17	Exchange Traded Funds	VNQ	Vanguard REIT Index ETF	140.000	82.98	11,617.20
12/31/17	Exchange Traded Funds	VBR	Vanguard Small Cap Value	80.000	132.78	10,622.40
12/31/17	Exchange Traded Funds	IVV	iShares Core S&P 500 ETF S&P 500 INDEX	50.000	268.85	13,442.50
12/31/17	Exchange Traded Funds	QQQ	PowerShares QQQ	140.000	155.76	21,806.40
12/31/17	Exchange Traded Funds	SPY	SPDR S&P 500	290.000	266.86	77,389.40
12/31/17	Exchange Traded Funds	VXF	Vanguard Extended Mkt Idx ETF	280.000	111.73	31,284.40
12/31/17	Exchange Traded Funds	VEA	Vanguard FTSE Developed Markets ETF	2,333.000	44.86	104,658.38
12/31/17	Exchange Traded Funds	BND	Vanguard Total Bd Mkt ETF	330.000	81.57	26,918.10
12/31/17	Mutual Funds	ARTKX	Artisan Intl Value Inv	1,710.532	38.62	66,060.75
12/31/17	Mutual Funds	KGGAX	Kopernik Glbl All Cap	3,237.250	10.58	34,250.10
12/31/17	Mutual Funds	LEMNX	Laudus Mondrian Em Mkt	9,818.061	8.55	83,944.42
12/31/17	Mutual Funds	LLPFX	Longleaf Partners	1,684.231	26.84	45,204.76
12/31/17	Mutual Funds	LSBRX	Loomis Sayles Bond Retail	2,100.402	13.69	28,754.50
12/31/17	Mutual Funds	OAKEX	Oakmark Intl S/C I	1,173.980	17.74	20,826.41
12/31/17	Mutual Funds	PRRDX	PIMCO Real Return D	1,252.521	11.06	13,852.88
12/31/17	Mutual Funds	SAMBX	RidgeWorth Seix FltRt Hi Inc I	4,942.982	8.70	43,003.94
12/31/17	Mutual Funds	SAMHX	RidgeWorth Seix High Yield I	1,384.884	8.41	11,646.88
12/31/17	Mutual Funds	SAMFX	RidgeWorth Total Return Bd I	2,844.590	10.42	29,640.63
12/31/17	Mutual Funds	VWIUX	Vanguard Interm-Term Tx-Ex Adm	1,843.560	14.13	26,049.50
12/31/17	Mutual Funds	VGSLX	Vanguard Reit Index	36.813	117.55	4,327.37
12/31/17	Mutual Funds	VWNFX	Vanguard Windsor II Inv	584.695	37.83	22,119.01

Total 882,316.95

Eileen T Higgins 2012 TRUST

As of Date	Security Type	Symbol	Description	Quantity	Price	Value
12/31/17	Cash and Money Funds	SWGXX	Schwab Government Money Fund			13,814.36
12/31/17	Exchange Traded Funds	SPY	SPDR S&P 500	106.000	266.86	28,287.16
12/31/17	Exchange Traded Funds	VXF	Vanguard Extended Mkt Idx ETF	143.000	111.73	15,977.39
12/31/17	Exchange Traded Funds	VEA	Vanguard FTSE Developed Markets ETF	591.000	44.86	26,512.26
12/31/17	Exchange Traded Funds	SCHF	Schwab Intl Eq ETF	320.000	34.07	10,902.40
12/31/17	Exchange Traded Funds	SHM	SPDR Nuveen Barcap S/T Muni Bd	245.000	47.91	11,737.95
12/31/17	Exchange Traded Funds	VBR	Vanguard Small Cap Value	30.000	132.78	3,983.40
12/31/17	Mutual Funds	ARTKX	Artisan Intl Value Inv	1,421.000	38.62	54,879.02
12/31/17	Mutual Funds	MITFX	BMO Intermediate Tax-Free Y	1,888.715	11.30	21,342.48
12/31/17	Mutual Funds	KGGAX	Kopernik Glbl All Cap	835.653	10.58	8,841.21
12/31/17	Mutual Funds	LEMNX	Laudus Mondrian Em Mkt	4,283.067	8.55	36,620.22
12/31/17	Mutual Funds	LLPFX	Longleaf Partners	1,437.000	26.84	38,569.08
12/31/17	Mutual Funds	OAKEX	Oakmark Intl S/C I	670.000	17.74	11,885.80
12/31/17	Mutual Funds	SAMBX	RidgeWorth Seix FltRt Hi Inc I	1,335.557	8.70	11,619.35
12/31/17	Mutual Funds	TRREX	T. Rowe Price Real Estate	424.000	28.70	12,168.80
12/31/17	Mutual Funds	VIPSX	Vanguard Infl-Prot Secs Inv	380.000	13.04	4,955.20
12/31/17	Mutual Funds	VWIUX	Vanguard Interm-Term Tx-Ex Adm	1,315.000	14.13	18,580.95
12/31/17	Mutual Funds	VWNAX	Vanguard Windsor II Adm	232.000	67.12	15,571.84

Total 346,248.87

Other Assets

MIAMI-DABE COUNTY
ELECTIONS DEPARTMENT

2018 APR 13 PM 2:31

BECEINED

2017 Income and Capital Gains

PART D - Primary Sources of Income

Name	Symbol	Income	Gain/Loss
ARTKX	Artisan Intl Value Inv	1,282.08	12,923.36
CRSAX	Credit Suisse Commodity	-	1,518.57
IVV	iShares Core S&P 500 ETF	267.52	1,634.39
KGGAX	Kopernik Glbl All Cap	1,774.16	-
LEMNX	Laudus Mondrian Em Mkt	3,250.31	(1,715.89)
LLPFX	Longleaf Partners	1,026.57	6,386.04
LSBRX	Loomis Sayles Bond Retail	951.23	648.82
OAKEX	Oakmark Inti S/C I	262.96	2,998.36
QQQ	PowerShares QQQ	266.54	9,371.44
SAMBX	RidgeWorth Seix FltRt Hi Inc I	2,365.27	(62.77)
SCHF	Schwab Intl Eq ETF	582.19	1,518.52
SPY	SPDR S&P 500	2,785.54	36,928.89
VBR	Vanguard Small Cap Value	337.07	3,778.80
VEA	Vanguard FTSE Developed Markets ETF	3,873.75	2,692.76
VWIUX	Vanguard Interm-Term Tx-Ex Adm	1,302.14	651.38
VWNAX	Vanguard Windsor II Adm	324.99	993.84
VWNFX	Vanguard Windsor II Inv	443.25	1,411.10
VXF	Vanguard Extended Mkt Idx ETF	632.74	3,496.34
Totals		26,996.82	87,783.91

2018 APR 13 PM 2: 3

PART D - SECONDARY SOURCES OF INCOME

Principal Business Activity of Name of Major Suources of Address of Source Name of Business Entitiey Source **Business Income** 265 Aragon Ave, Coral Gables, FL Books & Books Books & Books 33134 Bookstore Miami Dade College Miami Dade College Wolfson Campus, Miami FL University PO Box 308, Coral Gables, FL Raul Valdes Fauli Campaign Raul Valdes Fauli Campaign 33134 Candidate for Mayor

2018 APR 13 PM 2: 31



OFFICIAL RECEIPT MIAMI-DADE COUNTY-FLORIDA

No. 7415283

OUNTY				F. 1	7)	1.2										2 10		2 200
	RECEIN	/ED FR	OM	-il	cen	Hig	gins					D	ATE	MONTH	_/	DAY	_/_	YEAR
*	Addri	ESS	253	3/1	/E	2 md	5/mee	7 (mit	39	79	0	ASH	\$				_ •
		1400	m_{ℓ}			31K	EET ADDR		7		3313	<u>a</u> c	HECKS	\$		36	0	_ ·
MOUNT OF:	Those	Hus	nel-1	CI of	5,	×14	Doll	ARS, AN	ND	00/10	CEN	T STI	OTAL	\$		36	0	
OR DAVMEN	T. O.S. (1)		1.	. 11	T00	J	umV:1	1.sm	m.,	4		7:27	127	6				
OR PAYMENT	IPT NOT	VALI) UNI	LES	S DA	TED C	OMPLE	TED A	ND :	SIGNE	D BY	AUTHO	RIZE	D EMPI	LOYE	E OF	DEPA	RTME
EPT .: Ele											lane:		1		Y			
OR OF			NL	Y						7								
TRANS	S	UBSIDIA	ARY				Int	DEX COD	E			Subobj	ECT			Амо	UNT	
				T	- Control		T	TI			\top				Т		T	
-ilee,											DATE .		1	118		-	O C 3-9138/2	331
THE OF N	Nan	nd Nd	rec	Da	2d 81	ext	Cou	011	ak	25	av	d	00		\$ 3 	6C		Fecurity Features Details on Back
BRET BRANC	CH BANKING AND 1-800-BANK BE	TRUST C	COMPANY om		C	-CC.	5					8			>			MP
nicionalio <mark>c≒e Sci</mark> roud																		
	// + 3 · · · · · · · · ·			18 de 300		ig as southing	man C & Second	mme 4)			······································		4. 3 <u></u>	1111115 - 4141 1	3	2018	::::::X + 3:	MP